
© Confidential Intellectual Property of Displayplan Ltd. | Page 1

1

GARMIN

CTU MOUNTING

ASSEMBLY GUIDE

P12534    07/01/2025    Rev C A x1

2 3

4 5

Parts

Tools Required (supplied)

B x1

C x1

D x1

E x1
F x1

G x3

H x1

I
X10 

(M6X10)

J X2 
(M6X16)

PEDESTAL MOUNTED

B
C

D

I
X4 

(M6X10)

I
X4 

(M6X10)

H

I X2 

A

J X2 
(M6X16)

H x1

CTU PEDESTAL KIT SLATWALL KIT

J X2 

IF NOT USED 
BASED ON SETUP. 
KEEP SAFE. 



© Confidential Intellectual Property of Displayplan Ltd. | Page 2 

6 7 8

9 10

WALL MOUNTED

H
E

F

G

J X2


	Slide Number 1
	Slide Number 2

